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1.

Variety of activities and experiences must be

included in the curriculum to

(A) Provide joy and freedom from boredom

(B) Enable cach and every child some
activities to excel in

(C) Enable children to develop all their
capabilities equally

(D) It helps to learn difficult subjects better
if there are supportive activities

Concept of multiple intelligences suggests
that :

(A) Students should be appreciated for their
achievement in domains other than
traditionally valued like mathematics or
language

(B) Students must enhance their achieve-
ment in academic subjects through
participation in diverse activities like
music, art etc.

(C) Students should pursue subjects like
miusic, art, games only if they are able 1o
distinguish themselves in these subjects

(D) All students should be persuaded to join
art, music, games along with academic
subjects/activities

Continuous and comprehensive assessment

means ;

(A) Regular sssessment periodically 1o
ensure that leaming is taking place in all
subjects

(B) Assessment across a wide range of
abilities, personality, skills etc to record
learning

(C) Assessment on topics/subjects areas
where students are weak to provide
remediation

(D) Assessment to provide feedback to
parents and teachers for bringing about
improvement wherever there is low
achievement
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4. ldentity development is a concem of the :

{A) Erikson's theory
{B) Freud's theory
(C) Vygotsky's theory
(D) Dewey's theory

Rima finds that most of the children in her
class have leamed alphabet except onc or
two children who cannot write. She can
safely assume that they are :

(A) Mentally retarded

(B) Not yet matured

(C) Low in intelligence

(D) Not interested in study

Out of the factors given below language
development is significantly affected by :
(A) Media

(B) Books

{C) Adult interaction

(D) Playing with peers

Zone of proximal development refers to

{A) The level of development attained by the
child

(B) Level of development 1o be attained by
the child

{C) Level of development that can never be
attaingd by the child

(D) Level of development that can be
attained with the external suppon
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Use of a variety of assessment procedures
helps teachers :
{A) To locate cause of poor achicvement
(B) To understand the of poor
achievement
{C) To motivate poor achievers who do not
have writing skills
(D) Identify specific weaknesses of leamers
from diverse backgrounds

Choose correct staiement :
(A) A teacher must have sympathy with the

(B) Teacher must not sympathise but firmly
as per the ability and grade level

{C) Teacher must convey to both students
and parents the kind of expectations
they have of them regarding leaming
and supervision

(D) Teacher must treat all the same and not
distinguish or give any special
consideration

In order to motivate non-participating
students the teachers must :

{A) Give eye contact

{B) Pose questions to them

{C) Make them sit in front

(D) Ask them to speak in the class
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Most definite way of improving long-term
achievement among children 1s :

{A) Motivating them with rewards

{B) Providing facilities for study

{C) Emotional support by adults

{D) Tuition / remedial teaching

Intelligence tests vield dependable scores

when :

{A) The reliability of the test is very high

(B) The validity of the test is high

(C) The test is based on a variety of items

(D) The test has verbal items

The classroom activities must suit the

specific abilities of the students in the class,

the responsibility for this lies with the :

{A) Class tecacher to translate curriculum as
she/he expects / judges appropriate for
students

(B) Curriculum developers to make it
flexible for each and every leamer

{C) Systemic factors must 1ake note of the
needs of the diverse leamers

(D) Textbook developers must keep in mind
the difficulty level of the leamers

Encouraging the learning among children

from diverse backgrounds is possible by :

(A) Aligning the curricular experiences to
the needs of the diverse leamers

(B) Moderating the expectations from
learners belonging to poor background

(C) Making all studemts work harder to
achieve goals

() Plan rewards 10 motivate leamners
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Good teaching is :

(A) To organize learning resources and
leave students to work independently at
their pace

(B) To plan their stodies and ensure they
follow it

(C) To motivate them for future careers

(D) To provide individualised help to one
and all

What students leam in classroom is a
reflection of their :

(A) Cognitive capacities

(B) Parental involvement

(C) Mental health and adjustment

(D) Interest and mofivation

In order to make a classroom most active

learning hub, teacher has to spend greater

time on

(A) Making children communicate with
each other in non-aggressive ways and
work in groups

(B) Providing leaming resources and most
state of art teaching aids

(C) Competing as a group with other classes
to bring a trophy for high achievement

(D) Checking home work with great care
and pointing out errors
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Low achievement among students is most
frequent due to :
(A) Low 1Q
(B) Low motivation
(C) Lack of efforts
(D) Insecurity and snxiety

Children learn best when they are

(A) Able to listen to a knowledgeable
teacher

(B) Themselves try o read and write

(C) Being taught by their own peers and
classmates

{B]mehsgﬁﬂgrmmmppnmdbym
adult

Low motivation among school children is
because of -

{A) Poor communication skills of teachers
(B) Difficulty level of the curriculum

(C) Indiscipline and lack of effort by students
(1) Parents do not encourage study

Most important aspect of schooling

experience for all leamers is to :

(A) Enjoy classroom activitics and leam
vicariously

(B) Score high in different academic
subjects

(C) Learn 10 live responsibly and learn to
take care of oneself

(D) Learn discipline to live in society with
others

SET-D
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For muscular development which activity is
most suitable : ,
(A) Clay modelling
(B) Swinging
(C) Throwing the ball
(D) Drawing picture on sand

Father of *banking education’ is :
(A) Fraire

(B) John Hawk

(C) Piaget

(D) Skinner

The method of moving from particular
example to generalization is :

(A) Deductive

(B) Inductive

(C) Progressive

(D) Direct

Professionalisation of a teacher is
characterised primarily by :

(A) Subject knowledge

(B) Method of teaching

(C) Professional ethics

(D) Classroom discipline

. An ideal teacher should concentrate :

(A) On teaching method

(B) On the subject being taught
(C) On students and their behaviour
(D) All of the above
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27. The reason why children do not learn 1o

think critically is :

(A) The classrooms are highly rigid and
evaluation of answers follows the same

(B) The curriculum is not designed 1o
encourge creativity among learners

(C) The children are not all creative
thinkers due to their various kinds of
disadvaniages

(D) All teachers are themselves not creative
hence cannot encourage creativity

» Which of the following problems can be

studied with help of case study method :

(A) Most of the students show drawback in
gcometry

(B) The PTA meeting of classes always
show low attendance

(C) One student always sleeping in the
classroom

(D) Most of the students waste the [unch

. *Personality is the collection of learmed

behavioural pattern.” Whose statement is it -
{A) Bruner

(B) Skinner

(C) Piaget

{D) Freud

+ The most influencing factor in the language

development of a child is social
environment. Whose statement s this -
(A) Piaget

(B) Bruner

(C) Chomsky

(D) Vygotsky
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First Language - ENGLISH

Direction (Q. 31-32) : Fill in the blanks

with proper answers ;

3""

......... the stable door after the horse has
belted.

(A) Lock

(B) Shut

(C) Close

(D) Open

The government is planning to sell PSUs

(A) Like/and/Tike
(B) Like/but/such as
(C) Such as'sa/like

(D) Such as/but/like

Direction ((. 33-34) : Choose the sentence

which is grammatically correct.

33, (A)Iwas stuck in traffic jam

(B) 1 stuck in traffic jam
(C) I was stuck up in traffic jam
{D) 1 was stuck upon traffic jam

14

34. (A) All his family members are educated
(B) His all family members are educated
(C) All the members of his family are
educated
(D) His family members are all educated

Direction (). 35-36) : Choose the word
which is closest to the opposite in meaning of
the underlined word in the sentence :

35. We had a delectable meal yesterday :
(A) Nice
(B) Tasty
(C) Heavy
(D) Unsavory

36. Never adopt a callous attitude towards
your duties :
{A) Cooperative
(B) Considerate
(C) Cautious
(D) Courteous

Set-D



Dircction (().37-40) : Read the passage
given below and answer the questions that
follow by seclecting the maost appropriate
option :

You scemed at first 1o take no notice of vour
sdlmlfellmnrmharmmyuumﬁfm
them because they were strangers to you, They
knew as little of you as vou did of them, so that
this would have been the reason for their keeping
aloof from you as well, which you would have felt
2s a hardship. Learn never to conceive a prejudice
ugninuuthmbamumkmwmmugnrﬂ:m
It is bad reasoning and makes enemies of half the
world. Do not think ill of them till they behave il
to vou ; and then strive to avoid the faults which
ruuminlhcm,?hiswilldlumﬂ::irhn:ﬁiity
sooner than pique or resentment or complaint. |
thought you were disposed to criticize the dress of
some of the boys as not so good as your own,
Never despise anyone for anything that he cannot
help-least of all, for his poverty. | would wish you
to keep up appearances yourself as a defence
against the idle sneers of the world, but | would
not have you value yourself upon them. | hope
you will neither be the dupe nor victim of vulgar
prejudices. [nstead of saying above ““Never
despise anyone for anything that he cannot help™,
I might have said, **Mever despise anvone at all””,
for contempt implies a triumph over and pleasure
inﬂwii]ufmh:r.ltmem&utmmghduﬂ
congratulate yourself on their failings or
misforfunes.
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You have hitherto been a spoilt child, and
hmbmumdmhawmmwayamud
dul.bmhint‘mhnmamlm}mrnlﬂr
feﬂm.ﬂdlhwhmnymwmmfundnfh&ng
nlﬂdu*hﬂrnuhutgnndnmmdgmd
sense, and will get the better of this in time,
You have now got among other boys who are
your equals or bigger or stronger than yourself
and who have something else to attend 1o
mdynufee]ﬂfmu:nqmlwnrpi&mnf
injmtimﬂmﬂwﬂrstlﬂmtnhamisﬂm
mmmnﬂmmplcinmtmldhcsiﬂﬁ
yousell. The more amirs of childish self
Importance ynugiwrmrﬂ[,ymﬁllmly
expose yourself to be the more thwarted and
laughed at. True equality is the only true
mrﬂitycu‘wiid{:rm.lnrﬂurﬁthu'lhmmwu
nﬁn}ndnuywplmed.inﬂwumidmwiu
find competitors at every tumn. You are not
born a king's son, to destroy or dictate 1o
millions, you can only expect to share their
ﬁm,nrmﬂewmdifﬁ:mmﬂmuyﬁiﬂj
them. You already find it so at school, and |
wish you to be reconciled to your situation as
soan and with as little pain as you can.
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“You have hitherto been a spoilt child®
means :

(A) You are a spoilt child

(B) You were a spoilt child earlier

{C) You look like a spoilt child

(D) You have spoilt a child

37. Who is speaking to whom in this passage : Directions (Q. 41-44) : Read the poem
(A) Teacher to student below and answer the questions thai follow
ost i .
(B) Uncle 1o by selecting the most appropriate answer
Ly P 10 200 I wandered lovely as a cloud
(D) Eider brother to younger brother That floats on high o'er vales and hills,
‘When all at once [ saw a crowd,
L A host, of golden daffodils ;
Empmmunmjrpud*iqllmiuu. Beside the lake. Rl
{A) It shows you your place in society Fl S RS
{B) It shows the short comings of other
people Continuous as the stars that shine
failure They stretched in never ending line
(D) It fills you with a sense of triumph Along the margin of a bay ;
Ten thousand saw [ at a glance,
Tossing their heads in sprighily dance.
Give the synonym of pique :
(A) Displeasure The waves beside them danced ; but they
(B) Detatchment Out-did the sparkling waves in glee :
(C) Desperation A poet could not but be gay,
(D) Defi In such a jocund company

I gazed and gazed but little thought
What wealth the show 10 me had brought

For oft, when on my couch [ lie
In vacant or in pensive mood,
They flash upon that inward eye
Which is the bliss of solitude ;
And then my heart with pleasure fills,
And dances with the daffodils
Set-D



41.

42,

Why are the daffodils ‘fluttering and
dancing' :

(A) Because they are happy

{(B) Because it is breezy

(C) Because they love dancing

(D) Because the poet likes to dance

Why does the poet compare the daffodils to
the stars :

(A) They are small like the stars in the sky
(B) They are countless

(C) They are the colour of the stars

(D) They are twinkling

Indicate the figure of speech in ‘Tossing their
heads ......." :

*Solitude’ means :
(A) Being together
(B) Being in trouble
(C) Being alone
(D) Being sad
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Direction (Q. 4546) : Replace the

underlined phrases with the correct
options :

45. They came in quiet 50 as not to wake the

others in the room
(A) As guiet as not
(B) So quiet as not
(C) So quiet that not
(D) Quietly s0 as not

The metal roof was dismantled to be
broken up and scll as scrap

(A) For selling with scrap

(B) For sell as scrap

(C) And to sell as scrap

(D) And sold as scrap

Direction (Q. 47-48) : Choose the word

with correct spelling.
47. (A) Demurrage

(B) Demurage
(C) Demmurrage
(D) Demurragge

48. (A) Perniceous

(B) Pernicious
(C) Pernicuos
(D) Perneciuos



Direction (Q. 49-50) : Choose the correct

prepositions to fill in the blanks.

49, The essay was written by me ... a ball pen :

51.

(A) by
(B) from
(C) wath
(D) of

The brave soldiers quarrelled ... o
themselves :

(A) between

(B) in

(C) before

(D) among

The smallest unit of meaning in language is :
(A) Syntax

(B) Morpheme

(C) Pragmatics

(D) Phoneme

BDFC-SEC

52 Gifted students are

(A) Non assertive of their needs
(B) Independent in their judgements
(C) Independent of teachers

(D) Introvert in nature

Dryslexia is associated with :
(A) Mental disorder

(B) Mathematical disorder
(C) Reading disorder

(D) Behavioural disorder

In the process of learning, “‘Motivation® :

fﬂjsjmﬂitmcmqnflﬂnm

(B) Differentiates new learning

(C) Makes learners think undirectionally

(D) Creates interest for learing among
young leamers



Direction (Q. 55-56) : Choose the word
which is most similar in meaning to the word

given below.

55. Perspective :
{A) Viewpoint
(B) Prospect
(C) Attitude
(D) Agreement

56. Entail :
(A) Linit
(B) Occassion
(C) Involve
(D) Subject

Direction (). 57-58) : In the following
scniences, mark the part with the error.

57. More and more people / are using different
A B
colour schemes / in_their houses to_decorate
C
/ that reflecting their personalities.
D

58. The principal spotted Rekha / which was
A B
sitting in the / Canteen at the time when /
C
she should be attending the elass.
D

19
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Direction (Q. 59-60) : In the following
sentences you are required to rearrange
those parts which are marked as ‘P, ‘0,
‘R’ and ‘S’ to produce the correct sentence.

39, Farmers whether or not water will be
P
available land use plans only
Q
can prepare alternative
R
if they know in advance
-]
(A) RSQP (B) POSR
(C) RQSP (D) PSQR

60. Noamount poor countries if they do
P
¢ dicect aid will bl e :
Q R
1o generate wealth

5
(A) QFRS
- (B)RSQP
(C) QSRP
(D) RPQS
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Second Language - ENGLISH

Direction (Q. 61-62) : Select the mast

suitable altermafive and fill in the blanks :

{B) next to
(C) nearest
(D) next

Direction (. 63-64) : Choose the correct
choice among the options A, B, C & D in given

questions :

63. Skills of expression are ... -
1. Speaking
2, Revising
3. Reading
4. Writing
(A) | and 2 only
(B) 2 and 3 only
(C) 3 and 4 only
(D) 4 and 1 only

BDFC-SEC

Direction (. 65-66) : Choose the

correctly spelt word :

65. (A) Perseverance

(B) Perceverance
(C) Perseverence
(D) Perceverence

{A) Sanitorium
(B) Senctorium
(C) Senatorium
(D) Sznatorium



Direction (Q. 67-76) : Read the given
passage and answer the guestions that follow
by selecting the most appropriate option.

Occasionally the coolest of us gets quite
irritated; heated up over perhaps some small
problems. The other person with us al the time
says, ‘keep calm." But it does not follow that
being advised to keep calm will really cool us.

From person to person, the stress level
differs. There are those who do not flare up even
upon a strong provocation, and there are others
who start raving for the smallest of irritations.
Ofien the reaction of such people is out of
proportion to the degree of the provocation they
received.

A person may ask the question, “*“Why
should | remain calm 7**

There are quite a few reasons for us fo
remain calm, even in the face of severe
provocation. One of the main reasons for keeping
conirol over our feelings, our tempers, is that
when we get agitated, furious, enraged, we are
only raising our blood pressure levels. That is not
good for any person. After a fit of anger, it is
possible that the person may suffer a heart attack,
he may even die. This has frequently been
middle aged, or even really old.

BDFC-SEC

Another cogent reason to remain calm is
that our show of anger may trigger a serious
quarrel, or it may lead to physical violence,
both of which are totally undesirable.

In public life it is inadvisable for a person
to make a display of ill temper. Public life and
success in our professional sphere depends
upon keeping on good terms with everybody,
even with those whom we secretely detest. For
example, a businessman or even a shopkeeper
can not afford to alienate others then his
business will begin to suffer.

We observe the examples of politicians.
They are tactful in what they say even about
their opponents. When they meet those
opponents, there are the hand shakes and the
cordial behaviour as if they are the best of
friends. That is one benefit of remaining calm,

Then there is the art of diplomacy in
which leaders of states are the best examples,
one state may provoke another state with some
illegal act but the leader of the offended state
remains calm and makes a tactful statement
which is just the opposite of making a declara-
tion of war. If leaders of state did not keep
calm, there would be a great number of
localized wars in the world.



67. The coolest of us gets quite irritated means :

(A) The one with the lowest temperature gets
angry

(B) One who normally does not get angry
suddenly shows temper

{C) One who has a heart problem gets over
excited

(D) One who does not want to quarrel starts
quarrelling

The writer refiers to *stress level” to indicate :

(A) The point below which a person will
remain calm

(B) When one person will hit another

(C) How long a person will wait before
hitting another

(D) The point at which a person's self
control will yield to a fit of anger

. There are quite a few reasons for us to remain

calm suggests that :

{A) There is more than one reason for it
(B) There are only a few reasons for it

{C) There are several reasons for it

(D) There are hardly any reasons for it
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M. “In the face of severe provocation’

Tl"

implies :

(A) A person being incited w anger

(B) A person coming face to face with
one who makes him angry

(C) A person facing an annoying crisis

(D) A person unable to remain calm any
longer

The writer points out the danger of .........

for people ........ :

(A) Palpitation'not beyond middle age

(B) A heart attack/not yet 55 years

(C) A heart attack/who are elderly and
angry

(D) A heart attack/on in years after
getting very angry

following an outburst of anger :

(A) Age is not an important factor
(B) Age can be an important factor
(C) Age is an important factor

(D} Age used to be an important factor



73,

74.

76.

One in public life.............. by giving way w0 a
display of temper :

(A) May improve his business

(B) May destroy his business

(C) May harm his business

(D) May accelerate his business

Politicians ............ against their opponents
but when they meet they ...... :

(A) Always raillembrace each other

(B) May rail/show cordiality

(C) May abuse/indulge in smiles

(D) May speak/refrain from insults

Being diplomatic means :
(A) Being like a diplomat
(B) Being nice to all people
(C) Being tactful at all times
(D) Telling lies publicly

If heads of states did not remain calm at all

tiMeS .oss ;

(A) There would be more world wars

(B) There would be great danger of regional
conflicts

(C) There would be chances of countries
invading each other

(D) There would be chances of states using
nuclear weapons against other states

78,
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Direction (). 77-78) : Sentences in the
questions are divided into four parts A,
B, C and D. One of the four parts has an
error, find out the error and indicate :

Bread and butter are the only food for me.,
A B C D

The angry man walked hurriedly into the
A B
crowded room and shouted loud at the
C D

guest.

Direction (Q. 79-80) : Look at the
underlined part of the sentences, below
each sentence are given the possible
substitution for the underlined part.
Indicate your respomse againt the
corresponding letter A, B, C. If none of
the substitutions improves the seatence,
indicate ‘D’ as your response.



79. When Shankar Singh came home after a hard

81.

day in the office, he found his wife had slept :

(A) Sleeping

(B) Was sleeping

(C) Has been sleeping
(D) No improvement

Mone of the guests were introduced :
(A) Introduced

(B) Was introduced

(C) Have introduced

(D) No improvement

Direction (). 51-82) : Choose the word
closest to the opposite in meaning of the
italicised word in the sentence :

Her Modesty prevented her from making her
feelings known to him :

(A) Superiority

(B) Hypocrisy

(C) Vanity

(D) Arrogance
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82. We must realise the furility of wars :

(A) Value

(B) Usefulness
(C) Importance
(D) Urgeney

Direction (Q. §3-84) : Choose the word
similar in meaning to the italicised
word in sentence :

The man is grateful to his master :
(A) Sorry

(B) Annoyed

(C) Thankful

(D) Indebted

He is believed to be very industrious

(A) Successful
(B) Sensible
(C) Punctual

(D) Diligent



Directiom (). 85-86) : Four altermatives A,
B, C and I} are given under each senience.
Select the most suitable alternative to fill
in the blanks in the sentence to make it

meaningful :

(A) by, for
(B) by, with
{C) in, for
(D) with, for

Doctors and lawyers ... that advertising
will certainly ... their profession

adversely :

{A) reliance, harm
(B) believe, affect
(C) argue, eflect
(DY) plead, explain

Direction (Q. 87-88) : Out of the four

alternatives, choose the ome which camn be
substituted for the given words/sentence :

87. Impossible to describe :

(A) Miraculous
(B) Ineffable
{(C) Swpendous
(D) Apalling

18
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88. Science of the races of mankind :
(A) Genealogy
(B) Epistemology
(C) Ethnology
(D) Sociology

Direction (Q. 8§9-90) : Choose the
correct meaning of the underlined idioms
and phrases in the sentences :

89. Our school is within a stone's throw of the
railway station :
(A) Very far off
(B) With a certain radius
(C) At a short distance
(D} Within a definite circumference

90. Itis evident from the Minister's statement
that heads will roll :
(A) Transfers will take place
(B) People will die
(C) Dismissal will oceur
(D) Heads of department will have to
repent

Set-D
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(A) 3 2 4 1
® 2 4 1 3
) 3 4 ] 2
D) 3 1 2 4

. R R e o-wee-fan

FEI—

(A) 59+ 77 + 99
(B) A + & + TR
() A4y + T + T
(D) &Y + T + A9

72, 20 sfoaviE: =1 99—

() 3fa

(B) W
(C) TETm

(D) wifgan

. e faga—

AT, 9 (B) 9, ¥
C) % H (D) 4, %
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76.

T8.

sfea-Teasraaaaaiom: asfa—
(A) T B) fram:
(C) STUTFETH: (D) SEFH,

‘e wEaTE ITae: AfE—
(A) FATH RECES
(C) A== (D) T

A ME-fage  Cwem-rEEty
T sfE—
(A) Efasaa: fagray

(B) ¥ foraram
(©) firmilem srame= faara

(D) Woerea T
AT - A ST WA

(B) favwm
(D) feftsmg

(A) Treafo-fasf
(C) SreamE

- A sfis-dedes o

gl SE—

(A) TER  HEErE S D
nfufafiy dern: e

(B) fafi=irgrerdt:  sysaToe-wmerds
frm-fmivi F6f)

(C) =Eu-faa mewe-Hed oA

(D) THERV-F=-FW WA BA
Hlwlesy s FH
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‘nfrm g’ TeEm wmm wfim

s sfmmg: sfe—

(A) ST Hive A faw;

(B) Wl W ®fa wewara

(C) T Bl FY-TH-F0= AqHiem
o #iveafE Fdta

(D) Ti-favemyi Fdfa

9T 9347 F: AfauE—

(A) TETHEEF AR

(B) T s TE=aEY | e
(C) STEITE YAIETTE

(D) WIEHEEA: TR WIEE SqgtETTy

W e wdn sweE  (srEm,

qrEA, YA, WEM) GrdrEsas I

afia—

(A) BT wrat W oy sEe

(B) foriren: 9 shwari =nfstong

(C) BTAI 9T TEE WU W
AT

(D) BT - ST G- A HITy



82. = e I fondtn: sfm— 86. "wEa fadta W framfaas: woge
() fizm: w’ T g e T % —
(B) famm (A) T,

(C) famm: (8) farpareem
() fw (C) fatmarsian
(D) FasiFafiay

8. FEHTEERY  wEIeE T 8, ‘FheRE faurd o sfE—
Tﬁ_ﬂﬂﬂ{ (A) AMFy (B) TgaturEl
o ©) =fifmmd (D) frufy Jsfa
(©) Ty 8. T  wdTwERY T w
(D) =T PP

(A) TEI: (B) T

o iR (C) F9F: (D) Tan
(A) FERT 89. I, T e wwe
(B) FE: a8 o/ nyTasraie @y
(C) TEwTT L e alte—

(D) WEER (A) 58S (®) Rrafi
(C) T=am (D) FE=AfaeH

85. WIS T WE WETE— 9. YoEIwH/9EEE T T W

(A) FEEE g —

(B) Y9°& THS (A) 9= Ui=T:

(€ temm (B) WA Ay YemE:
(D) v = (C) Wia9e ==y
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wftra v fas (Mathematics and Science)

9., T EE I e TS FI B m @

TR AT 128 s B F =
WA, I T T T 143 A Ww e

¥ o Tk wit gl o How Ti—
(A) 205 (B) 200
(C) 195 (D) 190

pTE g IR TS Y T
pi=q¢" T g=9p. pw WA E—
(A)9 B) Yo

(o [] Yo

=ft % 79 % ofife S0% werf Wi # i oqw
= e S f—
(A) 12.5%

{C) 50%

(B) 25%
(D) 75%

T i v W e eyl e st =1
3 7l @ 2w § v e = e
21 :20 &, @ worw W T #—
(A) 4% (B) 5%
(C) 6% (D) 7%

. 9 wER W sleol ¥ fedt wr = sien
watE N o € 3ft ww s e iy
food sitem wratw @ 20 siw sifew W=
w0 ¢, 9 WU =R et @ siee s

d—
(A)N+4 (BIN+5
(CON+10 (D)N +20

4 =6 T T vm o #i ofwm oy 35 =
ol 3t & 9 wTue siea srg 34 Tl 14
wi gran g #h sy def—

(A) 20 =4 (B) 24 =

(C) 28 =d (D) 32 =4

9.

A man purchased some oranges at 3 for T 5
and sold them at 5 for ¥ 12. Thus, he gained
T 143 in all. The number of oranges he

bought are ;
(A) 205 (B) 200
(C) 195 (D) 190

pand g are two positive numbers such that
p? =q” and g =9p. The value of pis :
(A)V9 @Yo

© % o Vo

If circumference of a circle decreases by
30%, then the area of the circle is decreased
by :

(A) 12.5%
(C) 50%

(B) 25%
(D) 75%

The ratio of amounts for 3 yrand 2 yr at the
fixed rate of compound interest on a fixed
amount 15 21 : 20, then the rate of interest is -
{A) 4% (B) 5%
(C) 6% (D) 7%

The average marks obtained by a student in
her first three tests are N. If she obtain 20
marks more then last average marks in her
fourth test, the average marks of first four
tests are :
(A)N+4
(CIN+ 10

(BYN+5
(D) N + 20

4 yr. ago, the average age of Neha and Hina
was 35 yr. with Juli, the average present age
is 34 yr. What will be the age of Juli after 4
yr:

(A) 20 yr
(C) 28 yr

(B) 24 yr
(D) 32 yr



97. 3%, 4% 5% 7 670 & TR v e N

H t—
(A) 3% (B) 4%
(C) 5™ (D) 6%

o = fim oW\ oaw 20% s oI m
25% w@ few W@, @ whoenesy oo

ruq.';lmmnmt—

3 3
{A) 3 (B) 3
5

5
(€) T o b

fpedt wan & ﬂﬁﬂﬂlﬂﬂﬂ'w%

el € oi ¥ wew #) oft wefed 9
oM W % q Tewl W dem W :}

v 0, @ Fw faidd 9 dew W

fram W Taferm #—
23 18
P e
a3 17
C)— D) —
( }36 ( }35

100. r e 5 s ¥ fem fed B W
Hieza Saea —

(A) mr? (B) 2r*
2
(©) '— (D) r?
101 (ﬂ ﬁ} +[0.75+(0.75)* + 1] % whw #—
{A} 1 (B)2
()3 (D)4
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97. The largest number among 3%, 4% 5% gng
6% |

15
(A) 3% (B) 4%
(C) 5% D) 6

98. If numerator and denominator of a fraction
minmmdby!ﬂ%mdlﬁﬁmspmﬁml}r
the resultant fraction is 1, then original
fraction is :

5
3 3
{ME

{B}F
3 3
{C}i (D) 3

3ufmulmﬂ¢nuinuclassmgi:hand

5
remaining mbﬂrxlf-:nfgirhandi-at‘
boys are absent, then which part of number

of total students are present :
23 18
AY— e
( :'30 {3149
23 17
©O% T

100. Maximum area of triangle lying in a

semi-circle of radius r is
(A) mr? (B) 2¢*
fi )
(<) . () r
101. The square root of
3

%% +[0.75 + (0.75)% +1] :
(A)l (B)2
(C)3 (D) 4
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102. v =i & o & 10% ¥ ot o ot £,
T WE 39 909 =) 5 & fon e s
¥ ofy w e wri—

(A) 10% i

[H]IIE'H

o 13le

2%
(c)1 3

103, =1 TH W UF Ty T T 9 e Hew
o = Wi get—

2 5
(A) 3 (B) T
7

"
©s @)=

104, 7% #rE = T 6 w6t ud g 2 i 8,
TF o A sEA w1 oy e v e,
R =6 x2 W =12 ¥4, g% 9fz #—
(A) o qfe
(B) Ve e
(C) wrETEl | 5R
(D) e gfe

105, T wagwai W wtEn 2005 % agEn
T HrEe e T
(A) TeawE w1 fawmm w0
(B) a7 oISl W WA W WO
(C) T 1 Fifw=® 4T wew
(D) o=1 & afee T = fawm s
106. 9% = dew & 13 ¥ 9w fowm W@ @

TWEE | Tem & A wmeE w1 S ® W #
W WMEE 3 ot af dowm w65 B

faafss e =@ & $959 F1—
(A) 53 (B) 14
(C) 27 (D) 40
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102, Pay of a man is decreased by 10%. To get
the same pay in the next month what percent

should be increased in the pay :
(A) 10% [H}ll%'ﬁ
(C) 12% [D;'I]!%ﬁi

103, Two dice are thrown together. The
probability that the total score is a prime
number will be :

2 5
A) = i
'[13 IT,EIJ':lz

T 7
f':lg {D]E

104. Length of a rectangle is 6 cm and breadth is
2 cm. A student find the perimeter of the
rectangle in the following way :
Perimeter=6x2¢m™ 12 em. The error is
(A) Calculation error
(B) Procedural error
(C) Error by carelessness
(D) Conceptual error

105. According to NCF 2005 objective of
learning mathematics is not :
(A) To develop reasoning power
(B) To find solutions of abstract problems
(C) To use formulae mechanically
(D) To enhance internal resources of child

106. If a number is divided by 13, the remainder
is 1| snd on dividing quotient by 5, the
remainder is 3. If number is divided by 65

then remainder will be :
{A) 53 (B) 14
(C) 27 (D) 40



107. UF wewE ® Tan X, T Y ¥ s # ol
Tz e & e U, ter v ot
W g ¥ e €, @ X, TV ¥ see
#1 Frefafem & @ o W us wea wd@t d—
(A) Z, U afn w mera &
(B)X,V st Y 9o #
{C)Z, V 31 U, =it W & st &
(D) Y, V sl W muim #

108. 7% % 79 i x wgs @vx ¥ fogm w0 #
s y Eigw =vE ¥ fom = §, S—
(A)x=y (B)x<y
(C)x+y=180° (D) x +y = NP

100.f52 nt faxw ¥ o, T W W %,
£ZBAC + £OBC &1 W Bili—

(A) 75° (B) 100°
(C) 90" (D) 60°
110, F=g91 FwE—
(A) wY T ¥ femw wwe ars faas
word Bt 1
(B) = T § fams wifem a1l (=)
B #

(C) 7% wom § foms v PHavE W
FHofo WE Howe FHM BT B

(D) =% =um ¢ fam® Tv@ oEeE (39
T W UE) W Am denm w
T B B
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107. In a plane, line X is normal 1o line Y and
parallel to line Z. Line U is normal to both
line V and line W. Line X is normal to line
V. Which one of the following statement is
correct :

{A) Z, U and W are parallel
(B) X, V and Y are parallel
(C)Z, V and U all are normal to W
(D) Y, V and W are parallel

108. If in a circle x is an angle in minor segment

and y is an angle in major segment, then :
(A)x=y B)x<y
(C)x+ y=180F (D) x+ y=%"

109, In the given figure, O is the centre of circle.
The value of ZBAC + £0BC will be :

(A) 75° (B) 100°
(C) 90° (D} 60°

110. A perfect number is :

{A) a number that has all factors as odd
numbers

(B) & number that has finite multiples

{C) a number that has LCM and HCF of all
its factors equal

(D) a number, that is equal to sum of its all
factors (except itself)




111. f=ifEa % & S9-1 T T 38 W T
t 7w =@ A fde ogd & fm g
form  wEw #—

(A) 2x + 4 =8 W ¥ I WiAY

(B) T% wrafaw Wi w wwen fafen
frs M 2 +d=8F @R

Ofies =g & x=2 wism
x+4=8TEAH

(D) T TE W 2x+4 =8 T FoE
Hifag

112. ©= wfrs finfe Hween o0 w4 famidE

I e S A—

(A) =0 fF = ‘TuE aeT oS
wE B

(B) == firm famfddr =t few-wfem #
T T W Ew §, om: T
e = =g

(C) ow fism fows =t a0% Sitwl =t e
H frafem = wdt §

(D) 7% frm wan # T wwmaTe w1 Fein
= TFA B
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111. Which of the following questions is open
ended question and can be used to enhance
mathematical thinking :

(A) Find the sclution of 2x+ 4 =8

{B) Write a real life problem for which
2x+ 4 =8 is a solution

(C) Verify that x =2 is the solution of the
equation 2x + 4 =§

(D) Plot the graph of Zx + 4 =38 on cartesion
plane

112. A Mathematics teacher while teaching a
concept frequently takes feedback from the
students. This practice may :

(A) be termed as “‘formative assessment’

(B) disturb the thought process of students
and hence should not be done

(C) deviate the teacher from achieving her
objective

(D) establish a conducive environment in
the class



113. 7% 4 3 g0 w& w5 #1 | ind g= 1@
WA w T w8 W F oy
SEEE M E—

(A) 96 #eir (B) 24 Fip?
(C) 384 H4F (D) 220 #a

114. 10 #nd o & 59 % w=oln o waww
st e s
T o § v e & it 48 & d @
firgw =} o & o & (&l W) —
(A) 13,15 (B) 14, 14
(C) 12, 16 (D) 10, 18

115. ¥&1-6 ¥ =oftfg =1 9 =9 & R
T T §—
(A) = wafy
(B) & &
(C) reifirest e =1 398 = B
e ]
(D) FwER FA

116. v frfiesr fowfidd & wfdl & s w08

AR wHfala T = wewm =0 e wed

#1 =z = fofgm & .. ware 1 el d—

(A) Treaf S =1 wferdfy aTaaroonsit &
Y WP T

(B) ¥wofsfiss swm =

(C) frwfel § gemomam =1 fasmm =03
e

(D) nford Sy & gar w0 waed

45

113.

114.
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A cube of side 4 cm is cut into of side | em
cubes. The total surface area of all the small
cubes is :

(A) 96 em® (B) 24 em®

(C) 384 om® (D) 220 cm?

A right angled triangle is drawn inside the
circle of 10 cm radius. If the diameter of the
circle is ome side of the triangle and
perimeter of the triangle is 48 cm. Then the
other two sides of the triangle are (in cm) :
(A) 13, 15 (B) 14, 14

(C) 12, 16 (D) 10, 18

115, A suitable approach to introduce geometry

in class VI is through the use of :

(A) Lecture method

(B) Role play

(C) Demonstration  using technology
integration

(D) Solving problems

116. A teacher asked the students to collect the

leaves and to identify symmetry patterns.
This task reflects the teacher's efforts o

(A) reflect real life experience with
(B) introduce an intradisciplinary approach

(C) enhance creativity amongst students
(D) improve mathematical communication

Set-D



117, 7% 2* =47 =g¢ sk ——~+l+l.ﬂ

4y 6z 7
Tz A —
7 7
(Mﬁ fﬂlﬁ
T 1
':E]ﬁ {D}ﬁ

118. 9 (a+b):(b+c):(c+a)=6:T7:8 S
a+b+e=141 cE oA #—

(A) 6 B)7
(C)8 (D) 14

9.3 P+22+3 4. . +10°=3025
Po a6+t
(A) 6050 (B) 9075
(C) 12100 (D) 24200

120, 54 fem =0 o€ =X, @l ofam 20 o=
e & o fafm wE w R M wrd

wF & #7 = frest 108° = = w=m
T F—

(A) $o, 92 i o

(B) e, e it s

(C) wog, firrm i =g

(D) Foren, forr afk a7

LI P udlal and Lt lptalt

Ix 4y 6z 7
then the value of 7 15 :
@~ ®-
16 2
7 7
{C'Iﬁ fD}H
118. If (a+B8):(b+c):{c+a)=6:7:8 and
a+ b+ c=14 then the value of ¢ is :
(A)6 (B)7
)8 (D) 14

119. 1f 1° +22 +3% + ... +10° =3025 then the

value of 22 + 4 46" + ...+ 207 is :

(A) 6050 (B) 9075
(C) 12100 (D) 24200

120. The pie chart given below shows the
spendings of a family on wvarious heads
during a month :

Which three expenditures together have a
ceniral angle of 1087 :

(A) Fuel, Clothing and Others

(B) Fuel, Education and Others

(C) Clothing, Rent and Others

(D) Education, Rent and Others



121.;E#gm1uﬁHmmfﬂgnﬁ

(A) ST TH F FAU

(B) fogn wimmdw & s

(C) &= 78l ¥ 5" ® ¥
(D) Taf®Tn T& F FRO

122, 59 TN T oS W TEC wvegw W oot €
wH Ui e R

I @ | 1. smm o
m. smfad v, wwdksd &
e fawe 1 9 -
(A) waet | ®) 12 m
L () Fad

123, fl =g R0 9 9 R o Wi o Rrmre G
(A) 7r =T 91 T
(B) %5 =T w1 Wl
(C) =T =t w1 el

(D) o5y aedt

124. Tz =t wfa W Fafefos 4 @ s 9
mmmmt;
(A) T=99H =1 Hogo
(B) == F1 Trem
(C) taim ddm w1 Howw
(D) wits FaT w1 Hw

125, fr=t 7ol ¢ faam & -
(a) I
() srfa
{c) 9T
V™ § [ W sifte gl # wafw
B :
(A) (a) & (b)
(B) (b) & (&)
(©) (a) & (c)
(D) (a), (b) & (c)
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121. The tail of a comet points away from the sun

due 1o :

(A) Centrifugal force

(B) Electrical repulsion

(C) Attraction of comet due to other planets
(D) Radiation pressure

122. When a wave goes from one medium to
another, there is a change in the :
I Velocity II. Amplitude
HL Frequency IV. Wavelength
Choose the cormect option :
(A) Oaly | (B) Iand III
(C) L Mand IV (D) All of these

123. Distance travelled by a body can never be :
(A) More than its displacement
(B) Less than its displacement
(C) Equal o its displacement
(D) All of these

124. On which one of the following conservation
laws, does a rocket work :
(A) Conservation of mass
(B) Conservation of energy
(C) Conservation of linear momentum
(D) Conservation of angular momentum

125. Consider the following properties :
(a) Colour
(5) Shape
(c) Size
Which of these are affected during a physical
change :
(A) (a) & (B)
(B) (b) & (c)
(C) (a) & (c)
(D) (a), (b) & (c)
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126. Rainbow is produced when sunlight falls on
drops of rain. Which of the following physical
phenomenon are responsible for this :
I. Dispersion
II. Refraction
L. Internal Reflection
Select the correct answer using the codes
given below :
(A) Onlyland Il  (B) Only Il and Il
(C) Onlyland I (D) I, and I

127. In an electromagnetic wave,
I. electric field and magnetic ficld are
parallel 1o each other,

II. electric field and magnetic field are
perpendicular to each other.

IIL electric field and magnetic field both
are perpendicular to direction to
propagation of wave.

Choose correct statement(s) in above :
{A) Only 1l (B) 1and III
(C) land ITI (D) Only I

128. If the distance covered by a moving car in
rectilinear motion with a speed v in time t is
given by s = v, then the car undergoes
{A) A uniform acceleration
(B) A non-uniform acceleration
(C) A uniform velocity
(D) A non-uniform velocity

129. A stone 1= thrown upwands as shown in the

diagram. When it reaches at highest point P,
which of the following value of stone will be

g s

{A) Acceleration
(B) Kinetic energy
(C) Potential energy
(D) Weight
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130. Which one among the following statements

about the buses is correct :

{A) All bases are alkalis

(B) None of the bases is alkali

(C) There are no more bases except the alkalis

{12} All alkalis are bases but all bases are not

alkalis

131. A child says clothes dry faster in the sunlight.
She is showing an understanding of ;
(A) Symbolic thoughts
(B) Ego centric thinking
(C) Cause and effect
(D) Reversible thinking

132, Cause of Dental Caries is
(A) Hardening of Enamel
(B) Hardening of Dentine
{C) Softening of Enamel and Dentine
(D) Demineralisation of Dental Plague

133. In eye donation, which one of the following
parts of donor's eve is utilised :
(A) Iris
(B) Lens
(C) Comea
(D) Retina

134. What is lodized salt :
{A) Element
(B) Compound
(C) Heterogenous mixture
(D} Homogenous mixture

135. The *Solder’, which is used for welding
clectrical wires together, iz an :
(A) Alloy of copper and zinc
(B) Alloy of tin and copper
(C) Alloy of lead and tin
(D) Alloy of zinc and lead

Set-D
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136. A mixture of milk and groundnut oil can be

seperated by :

{(A) Sublimation

(B) Evaporation

(C) Separating funnel
(D) Filmation

137. Date of manufacture of food items fried in
oil should be checked before buying because
oils become rancid dueto :

_[A) Oxidation
(B) Reduction
(C) Hydrogenation
(D) Denaturation

138. Acids present in Spinach, Amla and unripe
Grapes respectively ane :
(A) Tartaric acid, Oxalic acid, Citric acid
(B) Onalic acid, Ascorbic acid, Tartaric acid
(C) Tartaric acid, Citric acid, Oxalic acid
(D) Tartaric acid, Ascorbic acid, Citric acid

139. Water is not suitable for putting out a petrol

fire because :

{A) The oxygen content of water is isclated
by petrol and thus it helps in burning

(B) Petrol is too inflammable to be
extinguished by water

(C) The heat required for combustion of
petrol is very low

(D) Water, being heavy, slips below petrol
which thus remains in contact with air
and burns
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140. Match list I with list I1 :

List 1
(Vitamin)
a. Vitamin A
b. Vitamin B
¢, Vitamin D
d. Vitamin E
Code :

(A)
(B)
(C)

(D)

E R N B S T

L -

List11
(Chemical Name)
1. Tocopherol
2. Retinol
3. Thiamine
4. Calciferol

e N e
L L s T

141. Disease caused by virus are :

(A) Small pox, Rabies
(B) Tetanus, Measles
(C) Malaria, Cholera

(D)) Plague, Pneumonia

142. Which one will be the best method to teach

the students about biological compost is :

(A) Making biological compost with the
help of students in the school

(B) Explain with the help of posters

(C) Information given through books

(D) To visit a place with students, where
biological compost is manufacturing

Set-D
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143, A science teacher plans to teach in class V1

“Properties of air’ by performing activities in

groups. What characteristics he will keep in

mind while selecting the student group leader :

(A) Order the students to perform their role
and work as per their understanding

(B) Give main roles to good students to
ensure that their group will first
complete the work

(C) Give roles as per capabilities, encourage
and establish coordination with group
members

(D) Freedom of choosing roles, work on
their own speed and understanding

144. Pancreatic juice is :
(A) Acidic
(B) Alkaline
(C) Neutral
(D) None of the above

145. ‘Science helps the students to think”. This isa :
(A) Statement of a Scientist
(B} An established fact
(C) A method of science teaching
(D) None of the above

146, Afier adding salt in water, the boiling point
and freezing point will :
(A) Increase
(B} Decrease
(C) Increase and decrease respectively
(D) Decrease and increase respectively
Set-D
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147. What is written in ‘Red Data Book” -

{A) Description of scientists

(B) Description of Blood Bank

(C) Description of biodiversity of the country

(D) Description of species struggling from
being extint

148. What should be kept in mind by a teacher
while making science syllabus and selecting
certain chapter 7

L. From easy to tough
I. From known to unknown
1. Continuity
Select the correct answer using the codes
grven below :
(A) Only I
(B) Only I
(C) Only Iand I
(D) LI and I

149. Atupper primary level, the teaching-learning

of Science can be made more effective

(A) By external evaluation of child

(B) By doing project work individually by
child

(C) By doing group activities and discussion
with teachers and classmates

(D) By providing maximum subject-content
to child

150, The oxygen is released during photosynthesis

from :

(A) €O,

(B) Water

(C) Chlorophyll
(D) Carbohydrate
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AT 375097 (Social Studies)

= 7 fem 7 TER B WE 9% WIa UEY
T ¥ sy ¥ ¥ § 9 fem—

(A) Trer wirf =il

(B) T e e

(C) Tt = e

(D) FEF TER SIS

T i s ) EeE g 9—
(A) 1948
(B) 1952
{C) 1961
(D) 1971

et st T E—

(A) FeTH! arewen A
(B) T2t a § W
(C) =™ & =t faer
(D) % TeETE T

o fargrs = o d—
(A) ferdt i & im-w
(B) 7=t = Wit ST
(C) forit & =it wrreafird

(D) gt i waw
TR IsE A s L

W T—
(B) fedta

(A) 758
(C) g (D) e

o ‘Beey’ TwoavEs T e A A
fem wawg & T W W §—

(A) sTedTEl

(B) Wit Ty

(C) ferrms

(D) wFree

21.

Which of the following acted as President of
Indian National Congress continuously for
8ix years !

{A) Dada Bhai Nauroji

(B) Gopal Krishna Gokhale

(C) Jawahar Lal Nehru

(D) Abul Kalam Azad

Non-Aligned Movement was started in :
(A) 1948
(B) 1952
(C) 1961
(D) 1971

Shafi'i and Hanafl are :

(A) Islamic Architecture Style
(B) Places in Saudi Arab

(C) Islamic Schools of Law
(D) Two Islamic Rulers

Geology defines to :
(A) Fauna

(B) Interior of the earth
(C) Flora

(D) Surface of the carth

(A) First
(C) Third

The mineral called *Selkharhi’ is not found
in which of the following districts of
Uttarakhand State :

(A) Almora

(B) Pauri Garhwal

(C) Pithoragarh

(D) Bageshwar

Set-D
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The earliest inscription on stone were in
which language :
(A) Prakrit
(B) Pali
(C) Sanskrit
(D) Brahmi

Match the following :
Buddhist Council
(a) First

(b) Second

(e) Third

(d) Fourth
(A)a-3,b-2, c-1, d-4
(B) a-2, b-3, c-4, d-1
(C)a-2,b4,¢-1,d3
(D) a-1, b-2, c-3, d-4

Place
1. Pataliputra
2. Vaishali
3. Rajagriha
4. Kashmir

Which of the following contemporary
sources of the Mughal period is especially
uscful for obtaining information on the
agrarian condition :

{A) Akbarnama

(B) Ain-i-Akbari

(C) Shahnama

(D) Tarikh-i-Ferishta

Who had laid the revolt of 1857 against the
British in Ara and Jagdishpur :

(A) Tantia Tope

(B) Begam Hazrat Mahal

(C) Kunwar Singh

(D) Nana Sahab Peshwa
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101. Which of the following is Brand Ambassador
for women empowerment in Untarakhand
{A) Gaura Devi
(B) Bachendri Pal
(C) Vandana Kataria
(D) Kavita Bisht

102. The only President of India who was clected
unopposed is :
(A) Dr. Sarvapalli Radhakrishnan
(B) Dr. Zakir Husain
(C) Fakhruddin Ali Ahmad
(D) Neclam Sanjiv Reddy

103. The Chief Justice of India can be removed
in accordance with the procedure laid down
in the constitution, by the ........ -

(A) President on a resolution by the
parliament

(B) Parliament alone

(C) Majority of the judges of Supreme Court

{2} President only

104. The High Court are empowered to issuc
writs for the enforcement of fundamental
rights under ....... :

(A) Article 225
(B) Article 226
(C) Article 227
(D) Article 228

105. Leaming depends on cognitive development :
(A) Always
(B) Sometimes
(C) Never
(D) In calculation
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106. Which island is made of corals -
(A) Ceylon (Sri Lanka)
(B) Andaman & Nicobar Islands
(C) Lakshadweep
(D) Madagascar

107. The main sources of nuclear energy are :
(A) Potassium & Plutonium
(B) Uranium & Thorium
(C) Magnesium & Radium
(D) None of these

108. The atmosphere gets heated by :
{A) Direct rays of the sun
(B) Radiation from the sun
(C) Heat from interior of the earth
(D) Volcanic activity

109. The main aim of *SAARC" is :
(A) Regional Cooperation
(B) Internal affairs
(C) Non alignment
(D) Peaceful coexistence

110. A government that headed by a Monarch,
but whose powers are limited by law or by a
constitution is :

(A) Constitutional Republic
(B) Constitutional Monarchy
(C) Authoritarian

(D) Anarchism

111. The first state to accept the three tier

structure of the Panchayati Raj system is :
(A) Gujarat

(B) Maharashtra

(C) Rajasthan

(D) West Bengal

57
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In Social Science, the NCF 2005 Position

Paper on examination reforms emphasises :

(A) Open book exam

(B) Continuous and comprehensive
assesment

(C) Test performance

(D) Flexible sitting arrangement while
testing

Development is a process of observable
social interaction, This is the opinion of :
(A} Erikson

(B) Skinner

(C) Robert Sears

(D) None of these

Which of the following is not an essential
requirement for trial and error leaming :
(A) Drive

(B) Barrier

(C) Chance success

(D)) Selective movement of the organism

115. The mame of a candidate for office of

President of India may be proposed by :
(A) Any five members of Rajya Sabha
(B) Any five members of Lok Sabha

(C) Any five members of Electoral Board
(D) Any ten members of Electoral Board

116. Which of the following skills refers to an

ability to derive the best possible solution to
a problem :

(A) Decision making skills

(B} Critical thinking skills

(C) Assesment skills

(D) Teaching skills
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117. The defect of Demonstration Method in
teaching is :
(A) The students does not learn by doing
himself
(B) The students face mental pressure
(C) The students loose curiosity
(D) All of these

118. In Indian pluralistic society, text book of
Social Science should :
(A) Reflect the majorily opinion
(B) Rellect the government's view
(C) Avoid controversial views
(D) Include and represent all religions and
social groups

119, Diagnostic and remedial teaching in Social
Science classroom will involve ....... :
(A) Providing a lot of material to read
(B) Providing opportunities for discussion
(C) Recognition of specific difficulty of the
student
(D) Comrecting the ecmors of students

instantly

120. As a teacher of social science your objective
will be :
(A) Development of Humanity
(B) Development of Nationality
{C) Development of Socialization
(D) All of the above
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H §—

(A) FrFfos T3
(B) 79 ==
(C) #iit ==
(D) =fimwta ==

BDFC-SEC

121. Which of the following pas is not included
among Green House Gases :
(A) Oxygen
(B) Nitrogen
(C) Methane
(D) Carbon dioxide

122, Maitch the following :
(a) Niti Pass 1. Rudraprauag
(b) Darma Pass 2. Uttarkashi
{¢) Dodi Tal 3. Pithoragarh
(d) Deoria Tal 4. Chamoli
(A)a-4, b-3, -2, d-l
(B)a-3, b2, c-1, d4
(C)al, b2, 3, d4
(D)a-4, b3, o1, d2

123. Which one of the following is the most
productive soil :
(A) Alluvial soil
(B) Arid Soil
(C) Black Soil
{D) Laterite Soil

124. Which of the following states has the lowest
female literacy rate :
(A) Gujarat
(B) Punjab
(C) Haryana
(D) Himachal Pradesh

125. Which of the following energies is not non-
conventional source of energy :
(A) Natural Gas
(B) Wind energy
(C) Soiar energy
(D) Nuclear energy




126. win % Ffefam o= % =% imom &
Y #R F oEfom sihhm o sw %
W ¥y i R T s = I wifm—
1. 39 WeW 2. i smE
3. FoTAETE 4, i
WE
(A)1,2,3,4
(B)2,1,4,3
(0)2,1,3,4
(D)1,2.4,3

127. foe1 # @ 9 wRE 4 T T 1—
(A) 91 %1 e
(B) AWM Hivd TET
(C) o v v v
(D) fimr e

128. wFfes T fre 2w =t off = 8—
(A)am
(B) g
(C) =i
(D) wfa

129, =1 wemrHl 39 S9TE & sEuR BN o
afeq wifE w6 T ¥ v ¥ fey m
FIE T ITM FifAg—

1. STies TEEPR

2. T HETERT

3, firg wwram

4. FEciied WETHIH

W
(A)2,4,3,1
(C)2,3,1,4

(B2, 1,43
(D) 1,2,4,3
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126. Arrange the following states of India in the
descending order of their area. Use the
codes given below to select the comect
answer :

1. Uttar Pradesh
3. Untarakhan
Codes :
(A)1,2,3.4
(B)2,1,4,3
(©2,1,3,4
(D)1,2,4,3

2. West Bengal
4. Goa

127. Which of the following does not belong to
India :
(A) Thar Desert
(B) Mamostong Kangri Mountain
(C) Tien Shan Mountain System
(D) Rimo Mountain

128. Map making fulfils the objective of :

(A) Knowledge

(B) Understanding

(C) Skill

(D) Interest
129. Amange the following Oceans in the
descending order of their areas. Use the
codes given below to select the correct
ANSWeT :
1. Arctic Ocean
2. Pacific Ocean
3. Indian Ocean
4. Atlantic Ocean
Codes :
(A)2,4,3,1
(C)2,3,1.4

(B)2,1,4,3
(D)).2.4,3
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130, FeTEve ¥ swrs w foee wu W i—
(M) TTETEL
(B) SR
(C) BroTErT
(D) Faemg

131, ==t 7 Hrmel F vy et = o 5.
srgfea g—
(A) 1857
(B) 1816
(C) 1900
(D) 1930

132, rim fasm wererm oo fnde sit Frosm =
¥ fom fraer T AT W T O E—
(A) TETE T AR S
(B) Tt 7 2mEmy S
(C) sfer sqrars A
(D) 3= =S o

133, e e ¥ 0% o0 TIOYREs W
T ¥ v 5 Fw fag v e am
#i?

(A) ¥t T

(B) &% T4

(C) =g B B

(D) famrarg Feoe v faames

134, 7% Ferwm wu &—"wwi o T g €,
T B I AW WioEr 5 e it —
(A) Uit gEiE
(B) wrel W
(C) T et
(D) 3 =o
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130. Where is the rock inscription of Ashoka in
Uttarakhand :
(A) Kalsi
(B) Jageshwar
(C) Drona Sagar
(D) Devalgarh

131. When did the treaty of Sugauli recited
between British and Gorkhas :
(A) 1B5T
(B) 1816
(C) 1900
(D) 1930

132. What is the name of the scheme for
constructing free houses for poor and
homeless, initiated by the Ministry of Rural
Development :

(A) Mahatma Gandhi Avas Yojna
{B) Rajiv Gandhi Avas Yojna
{C) Indira Avas Yojna

(D) Atal Avas Yojna

133. Which thing will you keep in your mind
while selecting a good text book of social
science :

(A) Good Print

(B) Low Price

(C) Brief Lesson

(D) Subject matter should be clear and
pictorial

134, Who said *“Wherever there are societies,
there is altruism because there is solidarity” :
(A) Emile Durkheim
(B) Karl Marx
(C) Mahatma Gandhi
{D) Amulya Barua




135, /=1 & 9 ffg = W 9w w1 wen svfys
o &g wfE fem mg—
(A) TETER
(B) T WaTT T
(C) =
(D) TRIgR

136. fre1 & Wi 1 sy wpon wvm = 5 ==
it #—
(A) 700 F 1400 ¥oat 7
(B) 100 7 300 %5t 7=
(C) 800 Yargd & 100 $an 9 w=
(D) 2600 §51 58 & 1900 §a1 o ww

137. 7= st F & e wim wwe awes =
T # fa T A—
(A) degm
(B) Wit
(C) wrp
(D) &=

138, 7= ¥ 3 e @t 99 W 9 T W@
w —
(A) ¥ Fagd
(B) &= YEqd fawii
(C) ¥ el fawit

(D) Framd sitferm

139. 5% & W wW § TEEen wemE
ol 723 57 = froy 8 & fed for =
e
(A) e i gk
(B) 37971 F=e1
(C) miEE
(D) ZreTae
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135, In which of the following places, the first
Atomic Power Station of India was
established :

(A) Kalpakkam
(B) Rana Pratap Sagar
(C) Narora

(D) Tarapur

136. Which of the following period, exactly
denotes the time of Harappan Civilization :
{A) From 700 w0 1400 A.D.
(B) From 100 to 800 AD.
(€) From 800 B.CE. to 100 B.CE,,
(D) From 2600 B.C.E. to 1900 B.C.E.

137, Which of the following language has been
used in Emperor Ashoka's edicts :
(A) Sanskrit
(B) Pali
(C) Prakrit
(D) Hindi

138. Which of the following sufi saint is called
*Garib Nawaz" :
(A) Shaikh Qutbuddin
(B) Khwaja Muinuddin Chishti
(C) Shaikh Salim Chishti
(D) Nizamuddin Auliya

139, Who of the following is given ecredit for
developing the Dahsala settlement during
the reign of Akbar :

(A) Muzaffar Khan Turbati
(B) Abul Fazl

(C) Man Singh

(D) Todar Mal




140, 39 Tm # yo% witeg W & E-Fe
R § T T 9—
(A) TrEE A2
(B) sv@ge T et
(C) Fifrm geea
(D) F=uil

141. 1776 %! ‘FrFsn 1 9’ W OwE A
= W—
(A)=is =it
(B) T=fe Sl
(Cy =it H=m
(D) =\ FFaT

142, frt § § w-w 3w T2 w1 wewE T #—
(A) ST T ST
(B) ®To
(C) ==
(D) fazA

143, TeTEE TeoAvE ® vawmd o fag am
R T T T T —
(A) T TR FTT W T A T
(B) U9 w1 sufife W frer &% fag o
e
(C) T ¥ fom o =1 =0+

(D) o=t

144, sooavE H Ger = T —
(A) U9 S0 |
(B) ¥ wen |

(C) == |
(D) = fas=an &
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140, Separate the Statesman, who was not
associated with the Non-Alligned
Movement :

(A) Marshal Tito

(B) Abdel Gamal Nasser
(C) Nikita Khrushchev
(D) Sukamo

141. Who was the principal austhor of the
“Declaration of Independence’ of 1776 :
{A) George Washington
(B) Benjamin Franklin
(C) George Mason
(D) Thomas Jefferson

142. Which one of the following countries is not
a member of NATO :
{A) United States of America
(B) Canada
(C) Cuba
(D) Britain

143. The tax called ‘Katak’ imposed by the

royality of medieval Uttarakhand is related

o :

(A) Tax to cross the river

(B) Tax to eliminate the economic crisis of
slate

(C) Tax for army

(D) House Tax

144. In Uttarakhand, * Aipan’ is related to :
(A) Architecture
(B) Wooderaft
(C) Sculpture
(D) Folk Art of Painting




145. Tooars & fe= -l =1 witw & =

TEE F AT F e W ¥ sefiam
EaiE il e e R R ]
WE W I wifam—

1. a= 2. Tt

3, g 4, sirrart

wE:

(A)L 2 3.4

(B)4,1,3,2

(C)1,3,4,2

(D)4,1,2,3

146. TEER THUATT T % AR oW ¥ was

147.

B T WETEE O WO B % W @

wafem Fifaw—

(a) FaAT= 1. 1624
(b) TETfE wmE 2. 1493
(c) =fea T 3. 1780
(d) Tewid e 4, 1772

(A)a-3, b2, cl, dd
(B)a-2, b3, c4 'd]
(C)a-2, b-l, c-4, d3
(Dya-1, b2, c3, d4

o T e 0 8 femd | fm o #—

‘weEEs, e o afeard &5, s @

fre? = % worw dem e few son—

(A) wrrts wifawe =t wern

(B) Wi HfEwm i W =7 99 g
MEEET F 9IeT

(C) vt T 1 W d@em W Aww W
W

Dyorm s s S s 5 &

7o firg
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145, Arrange the following tribes of Utarakhand

in the descending orders of their percentage
of population in the state. Use the code
given below 1o select the correct answer.
1. Tharu 2. Raji

3. Buksa 4. Jaunsari

Codes :

(A)1,2,3,4

(B)4,1,3,2

(C)1,3,.4,2

D)4,1,2,3

146. Match the following rulers of Panwar

Dynasty of medieval Uttarakhand according
to start of their ruling period :

(a) Ajay Pal 1. 1624

(b) Mahipati Shah 2. 1493

{c) Lalit Shah 3. 1780

(d) Jaykirti Shah 4. 172

(Aya3, b2, oI, d4d

(Bya2, b3 c4, dl

(C)a2, b1, c4, 43

(D) a1, b-2, ¢-3, d4

147. Where from of the following resolution has

been taken ? ““The minorities, backward
and tribal arcas, depressed and other
backward classes shall be provided
adequate safeguards™ :

(A) The preamble of the Indian Constitution
(B) Doctor Ambedkar's speech at the time of
presenting the Indian Constitution
(C) Nehru ji's speech on the eve of India's

Independence
(D) Main points of the resolution regarding
the objectives of the Indian Conszitution.
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148, B & ¥ T see= vfas v K for A%
S = oS B —
(A) =T falE
(B} # ¥% =
(C) Tt T
(D) dam frg=

149, Freffon Tt @ ¥ = gl
—

(A) T TR W ISER — O TR
1

(B) fawran [afdes W — ¥R W
T

(C) wg foamg W Wfwww —  #W IR
A

(D) == fmw W A — e
TS

150. Fretfefaa ool ¥ =H-= ofe W &

wftemd & i T = f—

(A) T TEAE ® WO FA-IrIEEm ¥
m ife g

(B) ¥fm wifw % wewawy 996 e
o W T 58

(C) 5fta 7 ymm: 912 79 frea feerl &
feru wnveTaE T

(D) ¥fta wfe % weEEEy 9 e W
= & W § ane- Pl g
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148. Who among the following is the author of
the *Protestamt Ethic and the Spirit of
Capitalism” :

(A) George Simmel

(B) Jean-Jacques Rousscau
(C) Max Weber

(D) Anthony Giddens

149. Which of the following pairs is not correctly
matched :

(A) The abolition ~ — Raja Ram Mohan
of safi Roy

(B) Widow — Ishwar Chandra
Remarriage Act Vidya Sagar

(C) Restraint on — Syed Ahmad
Polygamy Khan

(D)Restraint on ~ Harbilas Sarda
Child Marriage

150. Which one of the following outcomes does
not match with the outcomes of the green
revolution :

(A) Agricultural  productivity  sharply
increased because of the new
technology

(B) The number of rich farmers increased
considerably

{C) Green revolution mainly benefited the
small and poor farmers

(D) India became self-sufficient in food
grain production for the first time.
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Important Instructions (BDFC - SEC)

Before answering the questions the candidate should read carefully the following instructions :-

1.

10.

11.

12.

13.

14,

Immediately afier opening the seal, check o ensure that there is no defect in the Question Bookletand
all the pages are intact. If any defiect is found immediately inform the Room Invigilator. If necessary,
the Question Booklet will be replaced.

The candidate has to answer 150 questions inall. Each question carries 1 mark.
Answer the questions in the OMR answer sheet only.
Read the instructions given in OMR answer sheet carefully before answering.

There are four alternative choices against each question. Select the correet and most appropriate
choiee and mark it with blue/black ballpoint pen in the right bubble of the OMR. answer sheet in such
away that ink does not spread out of the bubble.

Question Nos. 1 to 30are related to Child Development and Pedagogy.

Question Nos. 31 to 60 are related 10 First language — Hindi OR English. Candidate has to select the
guestions of only one language as the First language. Answer the questions of the lanpuage which the
candidate has selected as First language in his'her Application form.

Question Nos. 61 to 90 are related to Second language — Hindi OR English OR Sanskrit OR
Urdu. Answer the questions of only one language which the candidate has selected as Second
language in his/her Application form. Be careful that the language selected as First language
cannot be taken as Second language.

Question Nos. 91 to 150 are related to Mathematics and Science OR Social Studics.

The candidate has to answer the subject Mathematics and Science OR Social Studies as selected by the
candidate in the Application Form.

Rough Work can be done in specified space of the Question Booklet.
Do not waste time in solving the questions. 1{ you cannot answer a question proceed to the next one.
Do not fold or damage the OMR Answer sheet in any way.

Afier examination submit your OMR Answer Sheet to the invigilator. Candidates are allowed to take
away the carbon copy of OMR Answer Sheet and Question booklet.
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